Physiology Practice Questions For Exam IV - Respiratory Control and Renal System

1. What does the ventral respiratory group within the medulla oblongata do?

a) triggers inspiration     b) decreased ventilation rate     c) nothing     

d) for forced breathing     e) inhibits apneustic center, sets limits to over inflation of lungs

Using the answer code below, indicate which chemoreceptors are being described.     

A = peripheral chemoreceptors,   B = central chemoreceptors,   C = both chemoreceptors,   D = neither 

2. ____ stimulated by an arterial PO2 of 80 mm Hg. 

3. ____ strongly stimulated by an elevated [H+] in CSF. 

4. ____ stimulates an increase in ventilation when arterial PCO2 is elevated. (What happens to CSF?)

5. The filtrate that escapes from the glomerular capillaries can be described as which of the following?

a) a fluid like plasma    b) like blood    c) like plasma, but without plasma proteins

d) like plasma, but without large amino acids    e) like plasma, but without the red blood cells

6. If podocytes in a nephron contract, glomerular filtration rate (GRF) increases.   a) True  or  b) False

7. The following measurements were made: Glomerular HP = 60 mm Hg; Bowman’s space HP = 15 mm Hg; and blood COP = 30. Calculate the net glomerular filtration rate.  

a) -15 mm Hg     b) 30 mm Hg     c) 15 mm Hg     d) 90 mm Hg     e)  -75 mm Hg

8. If breathing air at 30 m under water, the changes in pressure can have which effects on the body? 

1. decreased alertness      2. decreased solubility of N2      3. increased reactivity of H2 

4. decreased solubility of CO2      5. increased solubility of O2      6. oxygen narcosis 

a) 1, 6 and 5     b) 6, 5 and 2     c) 1, 2, 6 and 5     d) 6, 2 and 4     e) 5, 4 and 2

9. The inhibition of Antidiuretic hormone (ADH), say by alcohol, would have what affect? 

a) constriction of afferent arteriole     b) inhibition of diuresis     c) stimulation of water conservation 

d) constriction of efferent arteriole     e) reduction in water conservation by kidneys

10. The region in the brain that sets the limit for over-inflation of lungs is located in the

a) pons     b) apneustic center     c) arterial blood chemistry     d) medulla oblongata     e) stretch receptors

11. Which of the following substances are immediately reabsorbed from the filtrate?

1. glucose      2. K+ and H+ ions      3. amino acids      4. urea      5. large plasma proteins      6. creatinine 

a) 6, 3 and 1     b) 1, 3, 5 and 4     c) 1 only     d) 5 and 1     e) 4, 1 and 3

12. The reabsorption of amino acids from filtrate requires many different protein carriers because

a) denaturation may occur   b) this transport is not competitive    c) there are only 10 different amino acids

d) transport of amino acids is typically highly specific    e) glucose inhibits amino acid transport

13. Which of the following control the micturition reflex?

a) the autonomic N.S.    b) the parasympathetic    c) the sympathetic    d)  the somatic N.S.    e) the insula

14. The reabsorption (transport) of both Na+ and glucose together from the renal lumen is an example of 

a) facilitated diffusion    b) secondary passive transport    c) primary direct active transport

d) secondary indirect active antiport    e) secondary indirect active symport

LAB CONCEPTS ON EXAM VI:

Answer Key

1. d
2. d
3. b
4. c
5. c
6. a
7. c
8. a
9. e
10. a
11. e
12. d
13. b
14. e
